Hp =2 58 7 4581 10mJH(0.840)

=B R B AN
FLEREAT - U BN

8H28H 13:25 J{hV—2

AL —RA
B v - KA B BRI FLEk JEL aAV) #Moov-v EE
1 111 ek Bh(2) Fhyvagy K e 18.03 -1.9 2 5 1
2 11 ¥k Q) AVANG K H R 18.52 -1.9 2 6 2
3 1513 FHH HAED ENVZ A% NPT B 18.95 -1.1 1 7 1
41705 /R FER(2) vy < bt P e HH 19.13 -1.1 1 9 2
5 1111 sk £LQ) M= 74 = 19.19 -1.9 2 3 3
6 410 e x RFTIKEQ) FHE a4 P 19.24 -1.9 2 7 4
7 12 R EHh2) wh any R 19.47 -1.9 2 4 5
8 1507 JEA  #(©) 7V 74 THIFT B Pt 20.02 -1.9 2 9 6
9 114 K% G0 AA )3 NI K e 20.29 -1.9 2 8 7
10 1624 i #AEQ Yoy A% KRB 20.84 -1.1 1 4 3
11 1409 HA —FH©2) BF AT i 20.87 -1.1 1 5 4
12 1616 fAH FERHEQ) VB YA NN 21.50 -1.1 1 3 5
926 K WEHE(2) AAYH 1A e -1.1 DNS 1 2
925 REJIEBH2) e Yo WirE -1.1 DNS 1 8
711 JEAK IEFIR) AIAT 2k kAL DNS 1 6
526 EH  H®Q) VA FKHVE DNS 2 2
JL5l DNS: %15 —1—



